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QUESTION 1

A report author uses an OLAP cube to create a crosstab with Revenue as a measure, the Product linelevel in the rows,
and the year members (2004-2007) in the columns.

How can the report author efficiently determine the difference in revenue between the years 2005 and 20067
A. Determine MUNSs for the years 2005 and 2006, and then create an expressionusing the MUNSs.

B. Create a new column as a query calculation, and create the expression [2006]-[2005].

C. Create a set of the 2005 and 2006 members and aggregate it.

D. Ask the modeler to create a calculated category in Transformer and then use it directly.

Correct Answer: B

QUESTION 2

The report author creates a query where two items (TopThree and Retailer country) exist in the same member set. The
expression for TopThree is: topCount([Retailer country],3,[Revenue]).

Revernue “RPO07H# = Revenue 2007
=& Top Threg# = I =FIZ3F Consumer G 4, 605, 56855
o Toplfyeed s | cprovees Pega-Grbist el s ol
_':‘ﬂarta-w-Eo-aﬂ Liect 5, 475,45

= B Retailer country MS ) = —

T Exframe Qutdaes 7R 752 468.07
B TpTINERID tusky Outitiers | 9
Revenue 2007 : .J.‘.—J-'JE_' fﬂfﬂfﬁf :'f-éf.fﬂ_.ﬂr_ : b 255,257 .54
United States | 791, 312,090.13 Hhe Markatpiace 5, 316, 354.54
M B3, F 00, 2. T6 ‘ _hbrfm_ai.-;- _ _. 2, 57, 205,00
_l:-'.'..-’_'.l,m | JRBSEIFS.00 Spart Baremeant 617,058, 75
Weston Outftters | 3 78,00%.04

What drill behavior should the report author set in order to display the top three children instead of all children on drill
down?

A. Configure TopThree to Change Expression, and configureRetailer country to Preserve.
B. Configure TopThree to Preserve, and configure Retailer country to Preserve.

C. Configure TopThree to Preserve, and configure Retailer country to Replace Expression.
D. Configure TopThree to Ancestor, and configure Retailercountry to Change Expression.

Correct Answer: C
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QUESTION 3

Which of the following are dimensional objects?
A. Sets and query calculation

B. Query subject andrelationship cardinality

C. Slicer and string function

D. Level and member

Correct Answer: B

QUESTION 4

When must a report author use the caption function?

A. As the first parameter of the roleValue function.

B. To return the display name for thespecified business key.

C. To see the string display name for the specified element.

D. To pass the returned value to a drill-through target report, this expects a matching string as a parameter value.

Correct Answer: D

QUESTION 5

In a crosstab, Campaign is in the rows area, Order method type is in the columns area, and Quantity is the measure.
Campaign and Order method type are specified in the query. The report runs, displaying quantity valuesfor all years.

Why does this happen?

A. The dimension member from that dimension is implied.

B. The order method member from that dimension is implied.
C. The aggregate member from that dimension is implied.

D. The default member from that dimensionis implied.

Correct Answer: D

QUESTION 6
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A crosstab report has product lines in the rows, years in the columns, and revenue as the measure. In Query Explorer,
from the source tree, the report author drags the order method Telephone to the Slicer pane.

Why does the report author do this?

A. To help to set the context.

B. To create an ordered set.

C. To return only one tuple.

D. To aggregate the telephone member.

Correct Answer: A

QUESTION 7

What kind of authoring style uses the filter function?
A. Relational

B. Conformed

C. Dimensional

D. DMR

Correct Answer: C

QUESTION 8

When would a report author define a set?

A. To create a slicer to focus on a specific number of years of data in a report.
B. To change the crosstab node member properties for a level.

C. To use as a summaryfunction to return the total of the specified members.
D. To return members from different hierarchies of the same dimension.

Correct Answer: A

QUESTION 9

When a report author inserts Revenue into the Measures area of a blank crosstab report, which of thefollowing
statements is correct?

A. The report author has implicitly set the default measure for the crosstab report to be Revenue.
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B. The report author must verify the aggregation properties of Revenue to make sure it will display correctly.
C. Thereport author has declared a currentMember function to return the Revenue data.
D. The report author must validate the expression for Revenue to ensure there are no crosstab errors.

Correct Answer: A

QUESTION 10

A reportauthor creates a crosstab as shown.

Revenue 2006, 0k 2006 o
Gross prafit Gross arofit
Zamping Equipment 16,036,220,15  14,645,031.27
Mountairesring Equipment  5,371,849.26 0 5,144,144.69

What is the default measure of the report?
A. Mountaineering Equipment

B. Camping Equipment

C. Gross profit

D. Revenue

Correct Answer: D
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